o|Z 7| oM AtRSH= SEHIAY E (T2:9) o
- - Z[TH] E0[AtS
23 e sg [zxug] s

EXRE 20,000
PEEIET 10,000
T|20|MEMx| = 5,000
KMNO4 5,000 KMNO4 o2 =24
QbkzICky bkzICky 20,000
2zl azolk 3,000
REp/EL REPIELT 1,000 151%’ ;,réf’: g%? ooRneEs
X 27t g A 27} g 1,000 S e T
R R 1,000 ERE
TAZ HEYE 1,000 25cm# B8 HY
AR (HFHT) WS 2 10,000 50,000|28+EH2 H|E 40|
oAA|0} 20| HBEE M 2|2 55,000| 220,000
BO[XZ 0|23 2UE URZ 2|2 75,000  150,000[81Z575,000 / 2 150,000
CHAFZ 21 O e Al (M a2 &) CHafZL 21 of fen Al 300,000 500,000
CHeH I 21 Of| LA (AT HO| RAE]) CHAHIZ I Of e es Al 120,000
HIZ0] T|ZAOTPT, TC/TG, HIEI2IDAZ|) 10,000 H|EIRIDS4R| HE
H20|S(YSHR) FETS 33,000 66,000
H20|=(FARY) zAteY 22,000[ 55,000
51342/I| 2| HZA|Z(ER:YAG/CO2/ND:YAG) MAR0|A 2|2 22,000{ 1,100,000{7 42/ 2 40|
Eﬁ:ﬂﬁg%@ER:YAG/COZ/ND:YAG/ MA[0| 2|2 22,000| 1,100,000{ /212t 40|
CMN((ER:YAG/CO2/CLARITY Il /PICO) MAR0|A 22 110,000  550,000[1cM x 1cM 271
ZBIA/ LT ERH(ER:YAG/CO2/CLARITY Il /PICO) MAB[O|H 2 22,000 220,000|74%, 371 Aol
AOI?(ER:YAG/CO2/CLARITY/Z2120)) MAR0|A 2|2 33,000{ 1,320,000{742/2 2 40|

AOIR/E = (CO2/ S BRI 2) Co2/dE32 22,000 110,000[742/2 2 40|
QELDHND:YAG/PICO) PSS 330,000 880,000 %Eéogiﬁ SUAOIZEE 2

- LZ 1009 M AIO|REEH 3

S EfQHIH (ND:YAG/PICO) Aol 3|2 220,000( 880,000|5 4 2 o)
3 214, B3 B (ERYAG/CO2/CLARITY/PICO) [ERERSIEOY 880,000| 2,200,000 3%& 18l A4S sl e
/213512 ((ER-YAG/CO2/CLARITY/Z2t20}) 40| 42| 2 22,000 e 7|z
YT 43 (PICOND:YAG) M0l 2 110,000| 550,000} 0 5 SHAI=TH 271
HIZ{ K| BYHER:YAG/CO2/CLARITY) MAB[O|H 2 110,000|  550,000[1CM x 1cM 37|
MAZIZHRALR| EY) o[ HEY 22,000| 220,000|AMAz|2 & 2 /DZ |
Mzl zHI T EY) Ho|HEY 55,000 330,000(AMA%2 & Be|H/AZH3|
F29l3] 20X EY MAR0|A 22 220,000 274313
CLARITY Il 2714 O|e+25 330,000 A=A 12]
Fagx ameT MAR0|A 2|2 330,000 A2 13|




PICO Toning AR O] A 2|2 330,000 A= M| 13

Q.1.S 20| A M A2 0| A 2| =2 440,000 F24 12

2] 51E 2{0]A Al A2 0|A 2| =2 440,000 d=4 12

oj4 2|28 O+ & 440,000 F24 12

IPL/ =2, A4 A A2H0] 22| = 440,000 220,000] 440,000 élif—‘?'—a 33U g9l 3718
MAZZH(RALZ] EY) AOHEY 22,000 220,000|M42|2 & 2o|H/d=H4
AN IEY) 2[0|A & 55,000 330,000{MAZ|Z & EQH/LZHA|
CIORARQI &2 AL OfO[ A2 2 AL 165,000 47| 2| A &0l

g AL S| ZEf2HT] AL 110,000 7|2 Al 1M E

2L A oro[afel & 165,000 22£E| 110,000~

=4 A A =Y 165,000 22H52E 88,000~

A A Tcm x Tcm 110,000 1em@ 110,000 7t
=4 A A HEA, 0E 22,000 22t 22,000/32t 11,000
24 A otol2tel st 165,000 22£E 110,000~
F27| A= (4,895 = F271) solmHet 33,000 220,000|7H%/HAG 40
HIZ|2t0| E (= A1, 0H, 2H|5) SLFeFTEAL 44,000 1HZ

HIEI2IDFA} (HI2|E2]) SHAFSFAL 44,000 143

B (O0[AZEEA)/ B S HUA+00f 2EA 440,000

A S (00| AR EEA+A T ED) HEA 1,320,000 33| 07| 2] HIE

B (EEL)/HEZOl/E L, 0[0F THetE BEEA 440,000 122E HE

B EYE(EEL)/01, 271 RE A2 BEEA 110,000 £ HE

B EYHE(EEL)/E0[21 Of0{EEA HEEA 330,000

BEYE(EEL)/E0|21Q OO 2 EA+AILE H2EA 440,000

BYHE(EEL)/S22 5L 330,000

B (2E2)/0[0FARIE O 0|2 EA B2EA 220,000 18E |8

B Y™ (EEL)/E0te] BEA 660,000

B (Ha)/2L2| A, Fet0] A e 330,000 1cce

=0k orz 110,000| 220,000|Al& Al 238 A&
2217 0{(AZI0FAE) g5 55,000

O A X2 SHARSEEAL 11,000 0.5CCY

OfE| ZAT S AL SHASHEAL 38,500 1483

elH|glA SHetetEAL 33,000 1CC

2lH|EA SHAFSFAL 22,000 0.5CC

EfESEAL SLFSFEAL 44,000 142

HE|O|UIZ(Ch a2l Che T ) SHAFSREAL 77,000

|3 +LIH| = 20| mHE} 220,000| 880,000|53|T47|2| Al EOlHE
%=/ YU A2 B 20| HHE} 550,000| 2,200,000|53/147|2] A| @212
A2/ U Az B TE HO|EIHE} 770,000| 3,300,000|53|I7| 2| A| &QIXHE
ER-R-DE solmHet 165,000] 770,000|53|1H7| 2| A| &QIHE




O{EE 2= (E0lY mHE}) a2 0EEA= 110,000 OEET7 |2 2| =2 &gk sl
o{EZ2 242 (FAL|Z| 0|H EY) 28 2tM olE 2212 110,000 O ESIH7| 2| 2| =2 2HAt2k 5l
OES A= (T2 EY) 25 2t ole 222 220,000 O{SET7|Z|2| 2 Bkt2k 51T
olE2 A20|=(TA) 20|C ZA} 33,000 AUZHEE

O{EE HZ0|=(E0l8) solg 55,000 el Tt 518 27t

O{ES AZ0|E(R20|= CRYO) A=20|E W32 33,000 22H| g

OIEE(EX) gE 33,000 99,000|ZBHE=

HES(TA) HSTAL 33,000 REEREL
HES(ZZHAEX) gE 99,000 =HYEE

HEE(FIEE] 38) e 220,000 990,000(53|1H7|Z| A| SRIHE
OEE (72| ER2I0|E) 7tze| 110,000 440,000(53|T7| 2| A| SoIZL

(o T=E=1CTE: ETPN-TE ) Itz 22,000 110,000|7HL/MA|Al= Al HIE &
O E5(FtE2| EY)53|MH7 (2| A| EAXE 7tze| 110,000 440,000[53|T7|2| A| SOIZL
OES §/7t& (FtEe| AgY) Ftze| 440,000 30+30 A

0EE §/7t& (Ft22| EY) Ftme| 550,000 30%30 B

HESE2 g AU 110,000 770,000|105|1H7|2| A| &QIH &
oEE(ETE) 272 77,000 440,000| 105|147 |2| A| ZIHE
0{E2EE/22(PICO MLA) PICO MLA 330,000] 770,000|Z+3B/A2 A
O{CEEE/D2(HE| TAMYE 2{|0]%) CO2 FRACTIONAL 330,000] 770,000|Z+2FB/A2AH
OJEZ28E/2Z(22}0|3) 22t0|3 330,000 770,000|2+2FH/A=ZH7|
OEEEH/Z2Z(MEAIY) EBH/2E 33,000] 330,000|ZZHIEZ/IHY/HAY 40|
OESEH/Z3(A222Y) cEY 33,000] 330,000|2IZH[HE/IHE/H AL AO|
0k ot 33,000

H|2 (320]0F 5i|0f2tQl 1Y) A2 220,000

H2 (A=) A2 55,000

A2 (Eate|o) A= 550,000

HZ2(H|7|L]) A2 110,000 275,000|HXG 40|

H2(QF) A= 55,000

A2 (Z20|0} 5flof2tl ny) A2 330,000

A2 (Zota]) A= 110,000| 440,000|H=S Ato|

H 2 (HpH+3lLR) H2 110,000| 330,000| A G4t0]|

A2 (@) He 110,000| 440,000|H=E Alo|

A2 (E2) A2 165,000

H @ (5]7)) 2 110,000  440,000| %2 40|

M21 3004 ks 660,000 660,000] 660,000

FEl2F 3004¢ HIFU 28| 550,000/ 1,320,000|33]A| &t¢l

FE|2H 5004 HIFU | 660,000] 1,650,000|33]A| &tol

EXTES AZIZAE 440,000

SYFAL+ EE2 + PDRNAHAY LIS AE 330,000




oo oo 1o 0o
I M Ll N
ol od o) o)
ol ol NH NH
< < ~ ~
“lzlz|z
L LS N <!
= = ~ ~
o o
o o
O, O.
[Te] o
~ re)
o~ mn
o o
o o
O, O.
~ o
~ ~
~
o o
o o
Oy O.
N <
n <
Ho | ro
H]1d
< | <. .
uf | of | 2| <V
i e R
= T I =
o | ov | o) | B
™ ™ i
& 3
< =
b ]
| & g
W] S X
g | T =k
<] Iy o
™ 5! P
a1 31 = =
o2
B | ®
lE|E|R
bl U <n ]
H H w) | owy




